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= Class XXIII: (31 11)

000100
000010
o B- 000001
100000/[
010000
001000
laslk 1 0 0 0 O
O lalt 1 0 0 0
v | © o tam o o o |
o 0o o0 lamg 0 0 |
0 0 0 0 lam8 O
o 0 o0 0 0 lam

ine:= Ei genval ues [V]
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m eps2,eps3,eps4 have same block size, so we may assume that eps2 <= eps3 <= eps4.

ing:= Ei genval ues [W

ougl= {-epsl, epsl, epsl, eps2, eps3, eps4}
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injo= Sort [Ei genval ues[W /. {epsl - -1, eps2 » -1, eps3 » -1, eps4d » -1}]
Sort [Ei genval ues[W /. {epsl -» -1, eps2 » -1, eps3 » -1, eps4d » 1}]
Sort [Ei genval ues[W /. {epsl -» -1, eps2 » -1, eps3 » 1, eps4d » 1}]
Sort [Ei genval ues[W /. {epsl - -1, eps2 -1, eps3 > 1, epsd » 1}]
Sort [Ei genval ues[W /. {epsl > 1, eps2 » -1, eps3 » -1, eps4d » -1}]
Sort [Ei genval ues[W /. {epsl > 1, eps2 » -1, eps3 » -1, eps4d » 1}]
Sort [Ei genval ues[W /. {epsl > 1, eps2 - -1, eps3 > 1, eps4d » 1}]
Sort [Ei genval ues[W /. {epsl > 1, eps2 > 1, eps3 » 1, eps4d » 1}]

oue= {-1, -1, -1, -1, -1, 1}

oupio- {-1, -1, -1, -1, 1, 1}
oupi (-1, -1, -1, 1, 1, 1}
oupiz {-1, -1, 1, 1, 1, 1}
oupiz- {-1, -1, -1, -1, 1, 1}
oupia= (-1, -1, -1, 1, 1, 1}
oups= {-1, -1, 1, 1, 1, 1}

oupe= {-1, 1, 1, 1, 1, 1}

m 2 sign possibilities: --++, +--+

In[17]= posl
pos2

{epsl » -1, eps2 » -1, eps3 -1, epsd » 1};
{epsl > 1, eps2-» -1, eps3 » -1, eps4d » 1};

in9):= Ei genval ues [W/. posl]
Ei genval ues[W/. pos2]

oufio= {-1, -1, -1, 1, 1, 1}

oupeo= {-1, -1, -1, 1, 1, 1}

m For both configurations, eps2=-1, eps4=1 and eps3 = -epsl

npei= W= W/. {eps2 » -1, epsd » 1, eps3 » -epsl};

in21= W// MatrixForm

Out[22]//MatrixForm=

0 0 epsl O 0 0
0 epsl O 0 0 0
epsl O 0 0 0 0
0 0 o -1 0 0
0 0 0 0 -epsl O
0 0 0 0 0 1
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m Check that Sis in the set mathcal(S)

inj24]= Transpose[S].B. S ==W

outz4]= True

= Compute result

in[2s]:= res = S. V.l nverse[S];
r =Sinplify[res];
r // MatrixForm

Out[27]//MatrixForm=

IamZ;Iarm 0 0 §<_|amz+|am4> 0 0
I ant+l anB 1 epsl
0 — 0 0 Eepsl (laml - | anB) a
1 epsl
0 | aml 0 0
vz \z
Lilan+lamt) 0 0 Long-lam 0 0
laml-| anB I ant+l anB 1
0 “Zew1 0 0 B z
0 0 0 0 0 | aml
inj2e:= Petrov[r]
Out[28]//MatrixForm=
%(-Ian2+|am4) 0 0 0 0 IamZ;Iamfl
1 epsl | aml+l anB
0 Eepsl (laml - | anB) T 0 — 0
0 epst 0 lant L
vz vz
0 0 | aml 0 0 0
| aml+l anB 1 laml-| anB
0 - 5 f 0 2 epsl
Lare ot 0 0o 0 0 (-lan2+lam)

= Export notebook as .pdf

in29):= Not ebookPri nt [Sel ect edNot ebook [],

" /www/user /f dahl /paper s/Conj ugati on/not ebooks/Cl assXXI | 1. pdf "]
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